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	(91)-46. This article about fantasy literature is intended to __________.


	(91)-55. In this passage, the following advantages of casual office wear are mentioned EXCEPT _________.
	(93)-45.What does “the world” mean in “show the world to the world”?
	(92)-51.
The author’s primary purpose in this passage is to __________.

	
	(92)-52.
What is the best title for this passage?


	(91)-54. According to this passage, which of the following statements is TRUE?
	(94)-42. What does the word “everything” in paragraph 2 mean?


	

	
	(92)-41.
The passage is written mainly to describe __________.
	(91)-53. According to this passage, which of the following statements is FALSE?
	(94)-45. This passage is most likely taken from a(n) __________.
	(92)-42.
We may infer from the passage that the author is a(n) __________.

	
	(92)-44.
What is the best title for the passage?

	(91)-51. David Smith refers to himself as having been “a clothes addict,” because _________.
	(95)-42.
The underlined word ulcer in the second paragraph refers to a particular kind of ______
	(94)-43. What can be inferred about the author? 



	
	(93)-51. Which of the following is the best title for the article?

	(91)-50. This passage shows that Anderson finally defeated racism in the U.S. by __________.
	(95)-50. The underlined word conduct in the first paragraph is closest in meaning to 

   _____________
	(95)-48. Which of the following statements can be inferred from the passage?

	
	(  (94)-41. The passage tries to highlight the importance of ____________.
	(91)-48. Toscanini thought that Marian Anderson __________.
	(95)-48.
The word “shelf-mates” in the second paragraph most likely refers to ________.
	(95)-56.
Which of the following statements can be inferred from the passage?

	
	(94)-52. The main purpose of the passage is to ___________.


	(94)-44. According to the author, what is the common view of those who have lost some weight first and gained it back later? 
	(95)-50.
This passage was most likely written by someone who ________.


	(95)-53.
What is the author’s attitude toward abortion?

	
	(94)-56. What is the purpose of the article?
	(94)-46. What was Bam most famous for? 
	(95)-46.
This passage is most likely taken from a ________.
	(93)-48. It can be inferred from the passage that _________

	
	(95)-41.
What is the writer’s main purpose for writing this passage?
	(94)-53. When was the first nest of the red ant found in the United States?
	(94)-56.
The most appropriate category for the above paragraph is ______.
	

	
	  (95)-49. The passage is mainly about _____ 


	(95)-43.
According to the passage, which of following is a positive effect of stress? 
	(94)-55.
The most appropriate category for the above paragraph is ______
	

	
	 (95)-53. The purpose of this passage is to  ___
	(95)-44.
Which of the following is TRUE according to the passage?
	(94)-54.
The most appropriate category for the above paragraph is ______.
	

	
	(95)-51.
What was an important reason for the fast disappearance of the wolf?


	(95)-45.
In the early 1600s, tea was introduced to Europe due to ____


	(94)-53.
What does “had them on the edge of their seats” mean in the last sentence of the passage?
	

	
	 (94)-50.
What is the main message of the passage?

	(95)-54.
In the study, the subjects were placed inside the MRI scanner to ______
	(94)-49.
The word upset in the last paragraph means __________.
	

	
	 (93)-51. The pronoun it in the fourth paragraph most likely refers to _____. 


	(95)-55.
The language center in the brain that is believed to control speech production is called _____
	(93)-49. This passage most likely appears in a _______.
	

	
	(93)-46. This passage was written mainly to inform its readers about __________.


	(95)-56.
According to the passage, which of the following is TRUE for bilingual people?
	(93)-47. The pronoun them in line 5 refers to __________.
	

	
	
	(95)-46.
According to the passage, which of following is the most popular tea around the world?
	
	

	
	
	(95)47.
According to the passage, which of the following is TRUE about tea preparation?
	
	

	
	
	(94)-54. Which of the following is TRUE according to the article?
	
	

	
	
	(94)-47. The use of baked mud for buildings explains ____________.
	
	

	
	
	(94)-51. A person may suffer the most serious case of jet lag when he takes a __________ journey.
	
	

	
	
	(94)-48. Which of the following is CORRECT about the earthquake in Bam? 
	
	

	
	
	(94)-49. A traveler who suffers from jet lag has problems in ___________.
	
	

	
	
	(95)-52. A parachute needs to be opened because it can ____


	
	

	
	
	(95)-51.
According to the passage, which of the following is NOT true?
	
	

	
	
	(95)-55.
Which of the following people is most likely an anti-abortionist? 
	
	

	
	
	(95)-54.
How have the pro-abortionists reacted to the photos of smiling unborn babies?
	
	

	
	
	(95)-47.
Which of the following is NOT a reason for the Japanese to use more packaging?
	
	

	
	
	(95)-49.
The white man tried to kill the gray wolf because ________.
	
	

	
	
	(95)-52.
The Indians respected the wolf because it _______.


	
	

	
	
	(94)-52.
Which topic was NOT mentioned in the doctor’s speech?
	
	

	
	
	(94)-51.
What was the reaction of the audience to Dr. Thompson’s speech?
	
	

	
	
	(91)-47. According to this passage, what did Marian Anderson do between 1917 and 1929?
	
	

	
	
	(91)-43. Dom said that the most important thing in this accident was __________.
	
	

	
	
	(91)-41. How long had Tim and Dom been at sea when their boat was hit by a fishing boat?
	
	

	
	
	(91)-45. Superman, Peter Pan, and Harry Potter have charmed many people, because __________.
	
	

	
	
	(91)-44. People enter the world of fantasy for the following reasons EXCEPT that __________.
	
	

	
	
	(91)-42. According to Dom, the main reason for the accident was that __________.
	
	

	
	
	(92)-53 How much money do sales of rap music and videos together make each year?
	
	

	
	
	 (92)-50.
According to the passage, which of the following statements is true?
	
	

	
	
	(92)-49.
According to the passage, which of the following is NOT used in health spas?
	
	

	
	
	(92)-48.
Doctor medicine __________.
	
	

	
	
	(92)-47.
Which of the following statements is true?
	
	

	
	
	(92)-46.
What did people think of magic before 1800?


	
	

	
	
	(92)-45.
In ancient Greece, what did the priests do to show people they had unusual power?
	
	

	
	
	(92)-43.
The expression “constantly on the move” in the passage refers to the fact that __________.
	
	

	
	
	(93)-52Who wrote the book which shows that money is not the only way to measure wealth?
	
	

	
	
	(94)-50. If one travels across three time zones, he needs about __________ hours to get over his jet lag problem.
	
	

	
	
	(93)-53. Who wrote the book about Native Americans’ view of death?
	
	

	
	
	(93)-54Which book is published in 1990?
	
	

	
	
	(94)-55. What kinds of problems can the red ant cause?
	
	

	
	
	(93)-55. Which book is the thickest?
	
	

	
	
	(93)-48Which of the following statements about fireflies is true?
	
	

	
	
	(93)-49According to the passage, NEITHER flashlight fish NOR fireflies send out light to _____.
	
	

	
	
	(93)-50. Flashlight fish in the Red Sea give out light at night _____.
	
	

	
	
	(93)-46. Which of the following is NOT mentioned as one of the “countries of origin” in the article?
	
	

	
	
	(93)-47. What reason do the major museums provide for not handing back the ancient objects?
	
	

	
	
	(94)-48.
Which of the following is true of the Dubai Tower?
	
	

	
	
	(94)-47.
The main purpose for building the Dubai Tower is __________.
	
	

	
	
	(94)-46.
According to the passage, how tall will the Dubai Tower be?

	
	

	
	
	(93)-56.
According to the passage, what makes the Guggenheim Museum important in modern architecture? 
	
	

	
	
	(93)-53.
The Guggenheim Museum was built __________.

	
	

	
	
	(93)-54.
According to the passage, why was Wright NOT enthusiastic about building the Guggenheim Museum in New York City?
	
	

	
	
	(93)-55.
We can learn from the passage that the Guggenheim Museum is located _____.
	
	

	
	
	(93)-52. According to the passage, how can Cindy “see”?
	
	

	
	
	(93)-50. According to the passage, which of the following statements is true about Robot Aibo?
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56. What caused Becky to invent Glo-sheet?

57. Becky and her dad returned from the hardware store with a bucket of phosphorescent paint. What is phosphorescent paint?

58. In the last paragraph, what does it mean that Becky “didn’t actively market her Glo-sheet?”

59. With which statement would Becky Schroeder most likely agree?
   a. Experience is needed to be a good invention.

   b. Only invent things that you know other people want.

   c. You never know what you can do unless you try.

   d. Always try to sell patent rights to large companies.

60. Who would most likely need Becky’s invention?
   a. a doctor giving instructions in a hospital

   b. students doing work in their classrooms during school hours

   c. a librarian who checks out books at the front desk

   d. a scientist taking notes about animals being observed at night

